Solo mounting kit

HIGHWAY HAWIK

for aluminum or Tubular solorack

662-O046

Moty 7%
posslor Foup S0y Art. no.
Components
1 | Mounting bracket 1X
2 | Nylon ring M6 x 2mm 2x
3 | Washer M6 2x
4 | Nut M6 2x
5 | Bolt M8 x 8mm 1x
6 | Bolt M8 x 20mm 1x
7 | Washer M8 x 2mm 1x
8 |[Bush 220 x M8 x 20mm | 1X E, g !
o

This accessory should be mounted by a professional mechanic only.
MotoLux International B.V. / Highway Hawk can not be held responsible for improper installation.

© Moto-Lux Specialties B.V.
Barneveld - The Netherlands




